T (1)

No 552 WA E-CETN $4X B & BHEE wx BE & | EHEEE g RE & AHER m
k070 [HHEHDH FuX |REA|THREE(F) D 12_%vanh G-y 5700 37_SF240 Y- 4600 10_BH-18E gU—v 3700
b164 [f=hED D FuX |RBA|1EEEHIS SRTIVE) AK 72_&LY D £+ 11,300 | =Bumss |35 _SF250 BN 7,100 2.5912 = 5,700
k411 |f=dMED D FuX (RBA[145HLDERIER A2 21_7916(%) gy— 4900 | EALMI

k227 |T=hMED (F FuX |RBA|1ESEHIS SRATIVE) KK 29 FFanL SLIN— 10800 14_MH-E45) T— 8800 61_BH-255F T— 6700
b372 |f=h% LY *9Z |WBA|37 =2 L7 —kKkids) 256 30_T25 T4 5’9/':7”_ 7,400 77_BH-210F R4+ | 3,500

k022 |f=h¥h Ly FuX |FEBA|TEHEE () 20%4 15_tieE FARY— 4600 50_$INHUK RE 3800 4.7910 LY 3410
b389 |7l S T FyZ |WEBA|37 =<)L 7 —FKkids) 2564 30_T25 I)‘a";""j')_ 7,400 23_BH-15F A—va | 3500

b312 |7ELNEDS F FuX (EEA|32ihis F6 T1_t8f% 7E 11,400 78_8236 “Ef’j 9,500 85_8235 w74k | 6,800
k248 |H55 & FyX |BRBA|NLEEEHIS VSRTIVE) K 31_2h—5 TS5y 12600 32_Z%h5 IS5ov 8600 61_BH-255F IS 6700
b330 |1 = *yZ |RBB|37=< /LT —kKkids) 25/ 30725 TATMETU=| 7400 23 BH-15F ~—a | 3,500

k425 [BHT= C FuX |BB|14H5LLHEHIER D 21_7916(%) FFas)L 4900 | EmLmT

b357 |ZTD *9Z |FEB|37 =% L7 —kKkids) 258 30_T25 T4 5“;':7')_ 7,400 23 BH-15F R—sa | 3500

k409 (G LY FyX |IREB| 1451 LR HER D 21.7916(%) gy—> 4900 | BALmT

b399 |UM = FyX |f@BEB|37=</L7—IKkids) 25F 30_T25 FALTIL— | 7,400 77_BH-210F RIAk 3,500

k224 |{Thabvh U |FvX |BEB|1EBEHIS VSRTILE) REK 19_SayTuk HE 10200 15871 59y 7910 61_BH-255F ET 6700
k087 (Dt U |FvX |REB|7THEE(H) KF 2 hYREY *—2 7100 13_L-SHA-20 HIEZE 6500 61_BH-255F In— 4700
b100 [LMFTZ (& Daz7 (B |1ESEHISIRTIVE) &K 3_ZH—5 ISov 12,600 B’ 35_SF250 ILYF4— | 7,100 25912 T— 5,700
k405 |LMFTZ & Ta=7 (B |145LLPBHRER A2 21_7916 (%) I35y 4900 | mALMI

b446 (AT P Ta=7 (@A |4BRYMOBREE 205 28_5—~ *FHRTA | 6,200 M_YNHUE E+% 3,800 86_1084 SLR— | 3,100




Fm (L) B ®= ®=
No 952 Wl eL-TETN $4Z W & BHEE wx R & | EHEEE g B & AHER m
k417 |SA1Z W a7 |l |145LLPEHRER D 21_7916(%) RIA+ 4900 | EmLmT
k387 [&<FE Taz7 (Rl [14BHLAPRRER D 21_7916(%) AT+ 4900 | mALMI
k391 [EALES & |Pa=7|RlE |1453LAERELR A2 21_7916(%) FFas 4900 | BALMI
k339 [fzI2hE b a7 |l |47=<ILT—k(Jr) 258 30_T25 "'}’lf,’_l’j 7400 4.7910 RAE— 4260
k439 [DB1Z B Ta=7|E |32 F6 46_7740 & 13700 49_8159 GI3Hr | 9400 50_8234 G735 | 8900
b313 [ SHLLY C Ca=7 B |32k F6 54_K-BOX 2 10,600 78_8236 Zh4TL—| 9,500 858235 RIAk 6,800
k047 [SLCLY C Taz7|RE |7THEEE(E) KF 22 HIRVEY *—4 7100 7.8233 STL— 5150 6_BH-WO1F IS5y 4700
bos |ExEE 7| WA |33AREAM N 2 L Kith 4800 | VAESET | 79 1004 Kith 3,000 | JmmE=E | a0 2512 777 | 3000 | immEt
b45 |APEE DS  |Ca=7 (A |15/ v (RE) 208 | X/ SyFOEEE, IS 10/9LBLINELET
k228 |AbBE DS |Caz=T (B |1IEBEHIS VSRTIVE) AR 14_H—~ RiE 9600 14_MH-E45) T— 8800 61_BH-255F Tn— 6700
k302 (HFHE WS |Paz7|Rl [47=<LTF—kJr) 258 30_T25 FFaSL 7400 61_BH-255F IS5y 3500
k379 |HOBE S |Ta=7 (Rl |146HLOERER D 21.7916(%) gy—y 4900 | BALMI
k121 | EH Ta=7 (@B |5EREE ) 306 40_RFAY *2 7100 M_BNHUE &% 5500 61_BH-255F L= 4200
b4 |HY1> K Saz7|md |15%/ v (BE) 208 |/ SyFOERER, EHIS 10/9LBELINELET
k338 [HYXO B Ta=7 (@ [47=<ILF—hkWr) 257 30_T25 I—ILK 7400 4.7910 RAE— 4260
k208 |£Y % Daz7|RB | 1ESEHIS IRTIVE) A& 22_hIIEY *—5 10200 38_SF202 )= 7100 61_BH-255F T— 6700




